Math 182 Quiz 6 Name:

25 April 2017 Show Appropriate Work Point Values in | boxes I
1. |2 Find parametric equations, z(¢) and y(t), for the line segment from (4, 2) to (1,0). Include the
domain of ¢.
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2. | 2| Find parametric equations, z(t) and y(¢), for the circle with center (3, —2) and radius 5. Include
the domain of ¢.
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3. Consider the path given by c(t) = (2 + 3,1 — ¢3).
(a) |4] Find the length of the path for ¢ € [0, 1].
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(b) Find the speed, -‘;—?, along the path at ¢ == 1.
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4. Convert the following polar equation into rectangular coordinates.
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r= 2cosf — 3sin 6

Zv ws® - Zrsind =0

2)(-33*(0



You may find the following identities useful:

1 1
sinz = —2—(1 — cos2z) and cos? z = —2-(1 + cos 2z)

5. Find the area inside r = 2 cos 30 and outside r = /3, the shaded area in the figure.
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6. Find the length of the polar curve r = (6% — 1)‘ for 6 € [0, 7].

c*s (p51) =020+ | eyt @28 4] - (870
ap » AV

(r)Y = (26) - 46

as = (B7+1)d8

-
e w’



